LAB Exercise 7

Go to   www.openjpeg.org   and download the software.

Check in the DOCUMENTATION section of the site concerning the arguments related to the JPEG2000 codec.

Review the commands used in the examples provided in the SAMPLES section of the site.

Given the images einstein.tif, pepper.tif, T2.tif

· Convert the images to grayscale

· Compress them with bpp =0.1, 0.5, 1.0, 1.5, 2.0, 2.5, lossless using 3,4, and 5 decomposition levels
· Decode the images at the considered rates (namely at all the quality layers, successively) and calculate the distortion using the PSNR metric
· Plot the R(D) curves for the three images
· Define a ROI (region of interest) on the different images and encode the images as follow: 

· ROI: lossless

· Background : 0.1 bpp

· Decode the images and calculate the PSNR in the ROI, in the background and in the entire image

Note that the control parameter for the rate is the compression ratio, r, which means that you have to convert the bitrate values to compression ratios to run the algorithm.
